
 

 

 

 

 

 

 

 

 

 

LAMPIRAN  



TEGANGAN SAMBUNGAN 

Diketahui 

Fa= 875 N Fb= 1375 N Fc= 1465 N 

Lo= 30 mm  

t  = 0.7 mm 

Ditanya  =? 

  
  

 
 

A= Lo x t 

A= 30 mm x 0,7 mm 

A= 21 mm
2  

  
     

     
 

              

  
  

 
 

A= Lo x t 

A= 30 mm x 0,7 mm 

A= 21 mm
2  

  
      

     
 

              

  
  

 
 

A= Lo x t 

A= 30 mm x 0,7 mm 

A= 21 mm
2  

  
      

     
 

              



 

PERHITUNGAN REGANGAN SAMBUNGAN
 

Diketahui : 

Lo(a,b,c)= 30 mm 

             

            

            

Ditanya : 

  

Jawab : 

  
  

  
        

  
     

  
        

         

  
  

  
        

  
     

  
        

         

  
  

  
        

  
    

  
        

         

  



PERHITUNGAN MODULUS ELASTISITAS 

Diketahui : 

                          

                          

                          

Ditanya : E? 

Jawab : 

  
 

 
 

   
     

     
 

          

  
 

 
 

   
     

     
 

          

  
 

 
 

   
     

     
 

          

 

  



 

 

 

 

 


